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Note — Attempt five questions in all. Select one question
each from “the “UmtsIl " 1 "1 'and IV ‘of
Section-B. Section—A is compulsory.
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Section-A (@US-37)
Compulsory Question

(atfard wys)

1. (i) Find the Wronskian of the functions I, sin x,
COS: X

i sinx,cosxmmmaﬁaﬂml
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(i) Solve :

dy _x-2y+5
dx 2x+y-1
'd Tﬁﬁﬁ{ :
Q:x—-2y+5
dx 2x+y-1
@iii) Solve :
Py &y Ldy_
a3 @ dx
B ﬁﬁq :

(v) Define Legendre’s linear differential equation.

W F How sEwd glE 3 R
sy

(vi) Solve :
&% e
yz Xy
B HifST
- B
, A = R

(vii) Determine the order and degree of partial
differential equation :
o &%z &%z
2 ol
Ox Oxdy oy
e eTaher FHIHI
o o’z &z
2 hig =
ox ox0y gy”
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(viii) Classify the partial differential equation :
y2r - 2xys + Xt =0
e sTashe TEIHT Vr — 2xys + x%t = 0
P b 2x8=16
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Section-B
(@ues-9)
Unit-I
(FTE-D)
2..(a Solve :
(1+e-"y)dx+e-">'(1—f)dy=0
Y
(1+ex/y)dx+e'r/y[l—i]dyzo F BA HIfC
b
(b) Solve the differential equation :
%y - 20%)dx — (3 = 3x%y)dy = 0
Yy - 20%dx ~- (3 - 3x%y)dy = 0 3IgFdA
GHIFT F FA HifC 6Y2,7
3. (@ Solve y = 2px — p2x, where :
_d
dx
BT HINY y = 2px — pPx, 5@l ¢
dy
s |
g
CH-47 (4)

(b)

4. (a)

(b)

Solve :

p=tan| x— p2
I+p

T WifST :

p=tan{ x— p2
I+p

Unit-TI

(eTE-1I)

Prove that :

2
1 3
eax e eax

(D - a)? 2
fag #ifsw .
1 e
(D—a)z‘ 2

Solve :

2
—d—y—4ﬁ+4y=ex +sin2x
vdx? dx

g HifSu
dzy
dx?

—4Q+4y=ex +sin2x
dx
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5. (@ Solve :
4’y
dX2

g Sifew .

2
Q-3ﬂ+2y=sine_x
& dx

(b) - Solve :

—3ﬂ+2,v =gie*
Tdx

2
d_g_zg+4y=excosx
dx

A ifoq .

2
- %_2%+4y=(;xcosx 62,7
Unit-III

(FFE-11D)

6. (a) Solve by variation of parameters :

2
_d_y+4y=4tan2x
a“

2
e 7 fimrar fafy L] d—;+4y=4tan2x

dx
H '@ HIfST
CH-47 (6)

(b) Solve :

d* d
x2;;+4x;v+2y=x+sinx
T HIfST
2
2d”y dy :
x ?+4x;+2y=x+smx 6v2,7
7. (a) Solve :
S R B
2 S PRRET i e
6P -2) Y (P-53) 2(x’ -y
7 Hifsm .
dx dy dz

200 -2) 2P 2
(b) Solve :
(2xz - yo)dx + (2yz - zx)dy
~ P -+ dr=0
7 Hifeq
(2xz - y7)dx + (2yz — zx)dy
- Py @ = o

6Y5,7
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8. (a)

(b

9. (a)

(b)

Unit-1V

FFE-1V)

Form a partial differential by eliminating arbitrary
function f from z = fix? + 2)?).

z=f0x* +2?) ¥ e f # faga W@ T
Fifoer ofawa GHIEU SR

0z 0z
Solve ¥*p + y2q = z2, where p=—,g=—.
. P rydq pP o q ay
_x2p + y2q = 72 & 'A HifSuy EF
AL, T 64,7
ox Oy ;

Solve xzp + yzq = xy.
xzp+yzq=)qy3ﬁﬁﬂ'ﬂm:
Classify the following - partial differential

equation :

2 - 2
e +2 o - 0% =)
ox?  oxdy 6y2
HfeTF aFa gHIw .
62z 622 azz
+2 + =
x> Ox Oy 5y2

S -uicT s 9.4Y
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